
FOLD   2FOLD   3FOLD  4FOLD 5

123

A A

 
F
O
L
D
 
6

 
 
 
F
O
L
D
 
6

A1

B

C

D D

SIZE 

MAY  BE COPIED  OR LENT  WITHOUT  OUR AU THORITY IN WRITING.

FORMAT No.R&E/FORM/056/01 (REFER DOP No. R&E 4.4/03)

PREVIOUS REVISION NO.

SHOULD BE SCRAPPED

THIS  DRAWING IS PROPERTY OF KIRLOSKA R OIL ENGINES LTD. AND
MUST BE RETURNED ON REQUEST.IT IS SUBMITTED AS CONFIDENTIAL
INFORMATION WITH OUR ENQUIRY, TENDER , ORDER OR CONTRACT NO.
IT IS NOT TO BE ISSUED FOR  ANY OTHER PURPOSE OR ORDER NOR

IF IN DOUBT ASK
PRINTS OF

HEAT TREATMENT :-

MODIFIEDMODIFIEDNo. REVISION ZONE
REF. No.

DATEBY
No. BY

REVISION ZONE
DATE

REF. No.

MATERIAL :-ALL DIMENSIONS ARE IN mm.

STD.NO.10501.

SHARP EDGES.

 UNMENTIONED

SURFACE ROUGHNESS AS PER CO.

REMOVE ALL SHARP BURRS AND

UNMENTIONED TOLERANCES AS

PER CO.STD.NO.11001/M.

DRAWING NOT TO BE SCALED. APPD.

DATE

DRN

CHD.

UNLESS OTHERWISE SPECIFIED CAD DRG. FILE:-

WEIGHT (Kg) :-

SHT. NO

SCALE

TYPE

CASTING/FORGING DRG. NO.

3 2 1

FOLD 5FOLD1
F
O
L
D
 
 
1

HH

FOLD  4 3FOLD   FOLD   2

E

F

G

E

F

G

1 OF 2

   1:4

4

45

56

67

78

8

9

910

1011

1112

12

B

C

M
IN

 
m

m
O

P
E

N
 S

P
A

C
E

 F
O

R
C

O
O

LA
N

T
 F

IL
LI

N
G

30
0

E
LE

M
E

N
T

 R
E

M
O

V
A

L
S

P
A

C
E

25
0

50

70

CRS
52

70

C
R

S
52

540
RADIATOR MTG. CRS

404

702

TOTAL LENGTH
833

CRS
150 128

604

671

824

23
3

71
5

199
CHARGING ALTERNATOR

179

PACKING FOOT CRS
398

C
R

A
N

K
C

A
S

E
 C

E
N

T
E

R
T

O
 E

N
G

IN
E

 M
T

G
. F

O
O

T

18
0

C
R

A
N

K
C

A
S

E
 C

E
N

T
E

R
T

O
 P

A
C

K
IN

G
 F

O
O

T

25
4

C
R

A
N

K
C

A
S

E
 L

IN
E

T
O

 R
A

D
IA

T
O

R
 T

O
P

45
8

8 HOLES DIA.  DRILL, 20 DEEP AND
M8 X 1.25, 20 DEEP EQUISPACED ON 222.25PCD

6.8

355

546

37
4

45
4

24
1.

3+0
.1

3
  

36
1.

95
+0

.1
3

  

30.2

105 0.1

11 HOLES DIA  DRILL, 21 DEEP AND
M10x1.5, 18 DEEP EQUISPACED ON 381 PCD
FLYWHEEL HOUSING SAE4 WIDTH - 105

8.5

M
x1

.5
18

12

25

30

NEW RELEASE 

WINDCHILL

 
--

 
--

      2R550ABHISHEK TITLE 

JGJ GOEM INSTALLATION LAYOUT
JGJ  

17/09/2021

RADII --
KIRLOSKAR OIL ENGINES LTD.,

PUNE 411 003 (INDIA) 

DRAWING NO. REV. NO.

CHAMFER --
FOR REFERENCE 00

UNDERCUT --

LIFECYCLE STATE:- Concept

EXHAUST MANIFOLD

VIEW FROM RADIATOR SIDE

TOP VIEW

OUTER DIMENSION:-840L X 550W X 720 

FRONT VIEW
VIEW FROM ALTERNATOR SIDE

FLYWHEEL & FLYWHEEL HOUSING ASSEMBLY

SEE DETAIL BLIFTING HOOK

LIFTING HOOK

STARTER

PACKING FOOT

SEE DETAIL A

DETAIL A
SCALE 1:1

DETAIL B
SCALE 1:1

4 NOS. M8x1.25

SECTION A-A
SCALE 2:1

DRAIN PLUG

1 HOLE M10x1.5 THRU'

SECTION A-A



FOLD   2FOLD   3FOLD  4FOLD 5

123

A A

 
F
O
L
D
 
6

 
 
 
F
O
L
D
 
6

A1

B

C

D D

SIZE 

MAY  BE COPIED  OR LENT  WITHOUT  OUR AU THORITY IN WRITING.

FORMAT No.R&E/FORM/056/01 (REFER DOP No. R&E 4.4/03)

PREVIOUS REVISION NO.

SHOULD BE SCRAPPED

THIS  DRAWING IS PROPERTY OF KIRLOSKA R OIL ENGINES LTD. AND
MUST BE RETURNED ON REQUEST.IT IS SUBMITTED AS CONFIDENTIAL
INFORMATION WITH OUR ENQUIRY, TENDER , ORDER OR CONTRACT NO.
IT IS NOT TO BE ISSUED FOR  ANY OTHER PURPOSE OR ORDER NOR

IF IN DOUBT ASK
PRINTS OF

HEAT TREATMENT :-

MODIFIEDMODIFIEDNo. REVISION ZONE
REF. No.

DATEBY
No. BY

REVISION ZONE
DATE

REF. No.

MATERIAL :-ALL DIMENSIONS ARE IN mm.

STD.NO.10501.

SHARP EDGES.

 UNMENTIONED

SURFACE ROUGHNESS AS PER CO.

REMOVE ALL SHARP BURRS AND

UNMENTIONED TOLERANCES AS

PER CO.STD.NO.11001/M.

DRAWING NOT TO BE SCALED. APPD.

DATE

DRN

CHD.

UNLESS OTHERWISE SPECIFIED CAD DRG. FILE:-

WEIGHT (Kg) :-

SHT. NO

SCALE

TYPE

CASTING/FORGING DRG. NO.

3 2 1

FOLD 5FOLD1
F
O
L
D
 
 
1

HH

FOLD  4 3FOLD   FOLD   2

E

F

G

E

F

G

2 OF 2

   1:4

4

45

56

67

78

8

9

910

1011

1112

12

B

C

CRS
150

M
O

U
N

T
IN

G
 F

O
O

T
C

R
S

40
454

0

P
A

C
K

IN
G

 F
O

O
T

 C
R

S
39

8
C

R
S3

NEW RELEASE 

WINDCHILL

 
-- --

      2R550ABHISHEK TITLE 

JGJ GOEM INSTALLATION LAYOUT
JGJ  

17/09/2021

RADII --
KIRLOSKAR OIL ENGINES LTD.,

PUNE 411 003 (INDIA) 

DRAWING NO. REV. NO.

CHAMFER --
FOR REFERENCE 00

UNDERCUT --

LIFECYCLE STATE:- Concept

LEAK OFF PIPE

ISOMETRIC VIEW FROM STARTER SIDE

BOTTOM VIEW

ISOMETRIC VIEW FROM ECU SIDE

RADIATOR MOUNTING

SEE DETAIL C

AIR CLEANER
ASSEMBLY WITH STRAP

3R550 ENGINE ECU (AG48)

LINEAR ACTUATOR
WOODWARD MAKE

LOP SENSOR, 5V
RATIOMETRIC HONEYWELL

RADIATOR

SEE DETAIL D

DETAIL C
SCALE 1:2

DETAIL D
SCALE 1:1

M12x1.75


	Sheet 1
	Views
	new_view_1
	top_2
	right_3
	left_4
	A
	B
	new_view_12
	new_view_13
	left_14


	Sheet 2
	Views
	new_view_6
	right_7
	left_8
	new_view_16
	new_view_17
	new_view_18
	C
	D



